Answers

Fluency & Precision 2

Answer the division calculations below.

9009

ﬁﬂﬁfﬁ

: There are 20 bananas.
: How many bananas will each monkey receive?

Write the calculation you used.

20-5=4
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How many lollipops does each child get?

0)-(5)-[2)
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There are 5 bananas. :
How many bananas will each monkey receive? :

Write the calculation you used.

5+5=1
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Divide by 5 ** Answers Fluency & Precision 2

Answer the division calculations below.

ﬁﬁﬁﬂﬁ

: There are thirty bananas.
: How many bananas will each monkey receive?

Write the calculation you used.

30+-5=6

11 |=]55|+| 5
5 |+ 5 |=1
50|+ 5 |=|10

ﬁﬁﬁﬁﬁ

There are fifteen bananas. :
How many bananas will each monkey receive? :

Write the calculation you used.

15+5=3

15|+ 5 |=] 3
12 |=160 |+| 5
25|+ 5 |=| 5

masterthecurriculum.co.uk




Divide by 5 ***
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Answer the division calculations below.

Tia has twenty-five marbles. She splits them
equally so there are 5 in each bag.

She needs 12 marbles to play a game.

How many bags should she take?

3

Leanna has 20p in her pocket in 5p coind}

Malachi has 35p in his pocket in 5p coins. 7

Tia has nine coins in her pocket.
How many coins do they have altogether?

20 5

Draw a picture to help prove your answer.

Compare using comparison symbols.
>=<

55 +5 @ 60 + 2
12 +2 @ 30+5

: 3 tens plus five ones thirty-five
divided by five divided by five

Esin has forty marbles. She splits them equally :
so there are 5 in each bag. :

She needs 18 marbles to play a game.

How many bags should she take?

4

Leanna has 30p in her pocket in 5p coins.f
i Malachi has 85p in his pocket in 5p coins.] 7

Tia has 8 coins in her pocket.
Who has the most coins?

Malachi

Draw a picture to help prove your answer.

Compare using comparison symbols.
>=<

60 +5 @ 18 = 2

5 tens subtract five ones forty-five
divided by five divided by five
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A party jar contains 5 sweets.

Ron has 25 sweets.

5 party jars. 25+ 5=5

How many party jars will he need?

Use the number cards to make multiplication
and division sentences.

How many can you make?

10

15

2x5=10,5x2=10,10+2=5 10+5=2,
3x5=155%x3=1515+3=5 15+5=3.
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A party jar contains 5 sweets.

Ron has 25 sweets.

5 party jars. 25 +5=5

How many party jars will he need?

Use the number cards to make multiplication
and division sentences.

How many can you make?

10

15

2x5=10,5x2=10,10+2=5,10+5 =2,
3x5=155x3=1515+3=5, 15+5 = 3.
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A party jar contains 5 sweets.

Ron has thirty-five sweets.

How many party jars will he need?

/ party jars. 35+ 5 =7

Use the number cards to make multiplication
and division sentences.

How many can you make?

30

Examples

4x5=20,5x4=20,20+5=420+4
6x5=30,5x6=30,30+5=6,30+6

)

5
5.

)
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A party jar contains 5 sweets.

Ron has thirty-five sweets.

How many party jars will he need?

7 party jars. 35+ 5 =7

Use the number cards to make multiplication
and division sentences.

How many can you make?

30
5
4
20
Examples
4x5=205x4=20,20+5=420+4=5
6x5=30,5x6=30,30+5=6,30+6=5
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A party jar contains 5 sweets.
A box can hold 5 party jars.

Ron has 50 sweets.
How many party jars will he need?
How many boxes will he need?

10 party jars. 50 + 5 = 10
2 boxes. 10 + 5 =2

N

Use the number cards to make multiplication
and division sentences.
How many can you make?

Examples

10 four 5

2 eight

tens

2x5=10,5x2=10,10+2=5 10+5=2,
2x4=84x2=88+2=48+4=2
4x 10 =40, 10 x 4 = 40, 40 + 4 = 10, 40 + 10 = 4,
8x5=40,5x8=40,40+8=540+5=8

J \\
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A party jar contains 5 sweets.
A box can hold 5 party jars.

Ron has 50 sweets.
How many party jars will he need?

How many boxes will he need?

10 party jars. 50 + 5 = 10
2 boxes. 10 + 5 =2

N

Use the number cards to make multiplication
and division sentences.
How many can you make?

Examples

10 four 5

4

tens

2 eight

2x5=10,5x2=10,10+2=5 10+5=2,
2x4=84x2=88+2=48+4=2
4x 10 =40, 10 x 4 = 40, 40 + 4 = 10, 40 + 10 = 4,
8x5=40,5x8=40,40+8=540+5=8
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